(P )

(ROEWT)

ACSR330mm? (% #%) , AW70mm? (}5#%)

AN
-

40. Om

R

foff Sas D s

28. Om
25. Om

No.25



I E I B X
TEHR:IEFERERENI 7T~No2SHBEEZHYMES IS

=5 i 20245 & 20254 & 20264E FE
T 1B |28 |38 |48 |5A |68 | 78 (8B |98 |10B |11A|12B | 1A |28 |38 |48 |58 |68 | 78 | 8A | 98 |108 | 118|128
XK IS

“I *H Ef = | =

oz | AR REES R
AR T R E A& R

#iNo.24 C [ &E | ek E [ ] EZ [ BE-AET |
(BENo24 & 1) " 5
JNAR [ E G R = W=

BENo.25 AR | & _ _




JI1 AR F Rl E & #ENo17~No25 R EXFY)
BEICEOAERFAELS

EE‘*‘ Y
R &x 3]l & I @ K

(B] No.16

X
_FEﬁ (E] No.25

=R 1:2.000

2024 11 A

FEREN/NT =T ) v MR

S IGICI0

Bt = 15
B R 15

2, \
w .! i,

B

U4 —ig

H—7=

3_

avol)—4k
Jav Yy EH

HERE

BiahE

xR B8 #®
Uy #®

§>ﬁ%1$ﬁ

EBiERERS

ZRARAR

&6 [of H- 5%
i [l -




AT RER R ARET K H

r: |J ?f -~ )&%‘%’? L)

g
S il NG
I Foout L
AR/ . e e YL
ST !
J1 A it
) I/ / ;
¥ I f |I
/ I"I i y / [N -
12 )}r o |

XHEA O TTIC BT % EHlid,
MMEHEL TS
(FEEAC DWW TR BIE R )



1= A T K 3+
167

LK
SFEIE{E
£ ARET K #
l
= [m& | wws | wemm |
[0 | #mEm | smez e |

e JIRFEE RN T~ No2S RIS F I DRE
IZH5BIEREAAETHOIR)

B % No23LHHCKIEE R 1:300

B BIESR T AKX




i

HHEFERN

FREE

250, 08

3 CADKER (BAEE) (S TH

WML

Pk S

g VETEEEHNOTT~NoSHEFX iR 2
ISR RHAETEGIR)

ks

1512, 61

£ NodIEH (Hill WRWTEE RN HER 1:300

# B BIIER T AKA S







TRAEILAR THGHR S

. AH : AT=7 VORI NHLOESL.0mEL F2HErR

HX2

AL L B
(A

B RS
V1 =n /4" (BX1+2-e)-HXI
V21=7 /4+ (D+2-e)*+ (10m-HX1)
V22=7 /4+ (D+2+e)*+ (HX+HX1-10m=1.5m)+ x /4+D*+1.5m
V2 =V21+V22

. e : A EYE GE % 0.05m)

(o 7U—1]
V3= 7 /12+ (RI*+R3*+R1+R3) « (HI+H2) + x /4D’ L

(= 7Y —]] 0.5m
V4= /4+{ (BX1+2+0.5m) *~BX1*+BX1*-D*} +0.5m o B

HhEE
0.5m

[(FEiADzr27U—R]
V6=7 /4-{ (D+2+e)*-D%} + (L-1.5m)

HEEL]
V6=7 /4+ (BX14+2+e)**HX1+ 7 /4+ (D+2+e)*+ (HX-L)
-7 /12 [{R3= (HX-L+HX1) - Lz}*+R3% {R3- (HX-L+HX1) Lz} *R3] * (HX-L+HX1)

(1)
V7=V1+V2-V6

[ 88 T (HevshL) ]
S1=rx +BX1+-HX3

[ 480 T (B L) ]
S2=x +D+HX2

[P (R ]
S3=x /2+ (R1+R3) «y {(H1+H2)?+ (1+Lz%) )

[#k7(SD345)]
Vit o JERRERC 7 X 22 R

R TELH HIER

R T E N EHEE
PR E J 1R S [l 12 S 2 No.24
FEpgR S-750
FEREREATAR
fee | B aif) b clf dif
HEARER D m 2.50 2.50 2. 50 2. 50
RN R1 m 0.70 0.70 0.70 0.70
FEMA T SmiE R3 m 1.10 1.10 1.10 1.10
MR L 0 FotEEs S H1 m 0. 30 0. 30 0. 30 0. 30
HIEE L D T OREERS & H2 m 3.70 3.70 3. 70 3.70
FEAEE R Lz 0.10 0.10 0.10 0.10
Lo ® (F: 1, % 0) 0 0 0 0
WiE R X L m 6. 50 6. 50 6. 50 6. 50
TREIE = (SREEES) HX m 6. 50 6. 50 6. 50 6. 50
BRI A = HX 1 m 4.012] 3.109] 2.819| 3.498
B Lm S HD m 4.695 3.513| 3.754] 3.880
B S BX1 m 3.00 3.00 3. 00 3. 00
SREMETE ITE S HX2 m 5. 00 5. 00 5. 00 5. 00
B Rt L E S HX3 m 6. 00 5. 00 5. 00 5. 00
FERERE DF m 10.20( 10.20[ 10.20[ 10.20
ik NI 237.07m3
JiH alff) b cl di a3
B 50 1 V1 m’ 30.28] 23.47] 21.28] 26.40| 101.43
SRELERAEAI ( 0-10m) V21 m’ 31.40| 33.91] 33.91| 33.91| 133.13
SHEEEE] (10m— ) V22 m’ 2.51 0. 00 0. 00 0. 00 2.51
SREE R A A B V2 m’ 33.91 33.91| 33.91| 33.91| 135.64
m.%
Hopfkay ) -} V3 ' 34.49 34.49 34.49| 34.49| 137.96
By ) —h V4 ' 3.83 3. 83 3.83 3.83| 15.32
BEADa))-h V5 m’ 2.00 2.00 2.00 2. 00 8. 00
MR L V6 m’ 27.69 21.27| 19.23] 24.02| 92.21
Rt E V7 m 36. 50 36. 11 35. 96 36.29| 144.86
KRBT (mbhsL) Sl m 56.55 47.12| 47.12| 47.12| 197.91
K+8T (HEZL) S2 m’ 39.27 39.27| 39.27| 39.27| 157.08
R+ T EEt m’ 95.82 86.39] 86.39| 86.39| 354.99
BIRE (FEK) 3 m 11.37| 11.37| 11.37| 11.37| 45.48
655 (SD345) Vt kg 1124. 7| 1124.7| 1124.7| 1124.7| 4498.8
e (FEAMERE) m’ 36.50| 36.11] 35.96| 36.29| 144.86

SCHX2E 7-1ZHX31E, #HERE@SDOE E1. 0mll E& e,

(6-5)



1

EC.

GH=661.52

[t [0.20 m| FH=661.34

DL=662.00 | rm’]'lii

| Hellm———
o | &
|
SP. 1
[+ [0.62 wt
%t [ o GH=661.04
FH=661.04
|
|
210
DL=661.00
| -
i o|
|
BC. 1+2.0
GH=660.86
FH=660.86
rraa

1165
DL=661.00 h

|
| o
; CJ';
|
|
BC. 1
GH=660.60
[+ (005 w FH=660.60
|
1150
DL=661.00 |
| <
o

EC. 2+3.0

GH=662.57
FH=662.57

ITEHER

DL=663.00
| |
; <t |
| o
|
EC. 2
GH=662.97
FH=662.29
| [t T122 m
m+ | n
DL=663.00
|
' ©|
| (=]
|
SP. 2
GH=661.80
FH=661.90
|
l gt (066 n
255 (#r  [1.12 w|
DL=662.00 . :
D' | el |
9 ! o
|
BC. 2
GH=661.51
FH=661.51
l gt (027 nf
| (8t (106
DL=662.00 ._ %% |
Ny e |
o ! |
=

.46

A o I
= RE R Uk g%t
[STE s B E AR 2
BP 0.00 0.00
0.84 0.02 0.00
BC.1 0.05 0.00
2.00 0.09 0.00
BC.1+2.0 0.04 0.00
243 0.80 0.00
SP.1 0.62 0.00
443 1.82 1.22
EC.1 0.20 0.55
= 1.83 53 0.43 s 1.47
spvz 429 0' = 1.99 1' B 468
‘ 4.30 ' 404 : 2.41
EC.2 1.22 0.00
3.00 2.31 0.00
EC.2+30 — 0.32 - 0.00 G
EP ' 0.00 ' 0.00 ‘
0.00 0.00
&t 25.76 11.93 9.78
m3 m3
665. 00
T
1: 300 o]
DL=660. 00
e :
o g ] s € ¢
PIE SH 2 2 = = S
= & ] g ] =
a1 5 : 3 5 i 3 3
Te 3 E3 I E 3 3 3
448 §g 3 i 3 3
ERES E3 = £ @ = B = ]
o) S s S g 3 S = &
1 0 £ % & T 2 ; % S
B8 2 o g 8 % 8 g &
as - B ] T
Ein A
5 NEEEZRENCIT~NoSHBEXRNEE
[CHSARFBRETIR(CIR)

B2 No4TEH (Wl EREIME) HM-HHE %R 1:300

(53

BIIESR T A% EH




